#AZEXITINT7aR

MkHh>hU—-557
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FREAX  FTINARUT K—=X2THy b ouT AR
FRHD 8% 36 L% 36 I N ¥ % % % % %

N1z K £ out IN GROSS HDCP NET
LI R : ( 3X) 40 41 81 10. 8 70. 2
2 |3EE B (7TK) 41 42 83 12.0 71.0
I |EE #BE ( BX) 38 40 78 6.0 72.0
4 & FE ( 3[X) 47 43 90 18.0 72.0
5 1A HZ ( 4) 50 46 96 24. 0 72.0
b |BEA  F3A (TX) 43 40 83 10. 8 72.2
7 |t =1 ( 2[X) 43 46 89 16. 8 12.72
8§ \mAE B ( 4[X) 43 46 89 16. 8 {2
9 |AFA FR (TK) 37 39 76 3.6 72. 4
10 AR &= (GH) 45 48 93 20. 4 72. 6
11 |#fE %= ( 5X) 41 46 87 14. 4 2.6
12 |FH B= (GH) 43 42 85 12.0 73.0
13 |82 ZHE} (11X) 45 46 91 18.0 73.0
14 | FH #H% ( 6[) 47 49 96 22. 8 73.2
15 (MR {8 ( 4X) 45 45 90 16. 8 73.2
16 |Hs =k ( 6IX) 47 49 96 22. 8 73.2
17 |l EXR ( 4X) 38 39 77 3.6 73. 4
18 |*FRE = (1MX) 42 46 88 14. 4 73.6
19 (BEMhEEET (= a1 43 43 86 12.0 74. 0
20 |[#BAR {£% (=g 45 53 98 24. 0 74. 0
21 1By BEX ( 4X) 44 48 92 18.0 74. 0
22 |ERAEE #H= (=) 53 a7 110 36.0 74. 0
23 |#ABsB AN (9) 42 43 85 10. 8 74. 2
24 |11/ EE (9X) 44 41 85 10. 8 74. 2
25 |#JE BT ( 5X) 43 48 91 16. 8 74. 2
26 |t =X ( 2[X) 42 43 85 10. 8 74. 2
27 |ESE ( 3X) 47 50 97 22. 8 74. 2
28 |HfE =B ( 2[X) 45 51 96 21.6 74. 4
29 |KEZE 8 (14X) 45 44 89 14. 4 74. 6
30 |RE  FEH (GH) 45 44 89 14. 4 74. 6
31 |EH {£88 ( 4[X) 42 40 82 7.2 74. 8
32 |EH KReE ( 6X) 38 37 75 0.0 75.0
33 |&E E# () 51 47 98 22. 8 75. 2
34 |BEE  FEkE (9EX) 46 he 98 22. 8 75 2
35 |EE E== ( 1X) 43 48 91 15. 6 75. 4
36 |FEH FEB (= 1) 48 49 97 21.6 75. 4
37 |SiEEX (= #l) 41 43 84 - 8. 4 75.6
38 |HE HE (TEX) 45 45 90 14. 4 75.6
39 [N &k ( 4X) 43 47 90 14.4 75. 6
40 [IL'F =E8 (9X) 48 48 96 20. 4 75. 6
41 MR ( 6X) 49 53 102 26. 4 75. 6
4?2 |YEH RER =41 42 48 90 14. 4 75. 6
43 |EH BE ( 4X) 51 44 95 19. 2 75. 8
44 |=8F B (4X) 51 44 95 19. 2 75. 8
45 |FN ER ( 4X) 43 45 88 12.0 76. 0
46 |/hR =2 1Mx) 47 47 94 18.0 76.0
47 |EE # ( 2X) 50 62 112 36.0 76. 0
48 (lLO IE— (1X) 53 47 100 24. 0 76.0
49 [ HFzt FB=(4K) 50 49 99 22. 8 76. 2
50 [/h#k  iE=E ( 5X) 55 56 111 34. 8 76. 2
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BREAR S TNRUT NR=X2Thy k ouT N * %
EFRHD 531% 36 Ztk 36 N % £ 4%
B KE % ouT [N GROSS HDCP NET
51 |51 B ( 1X) a7 46 93 16. 8 76. 2
52 Em 2 (]=3) 55 50 105 28.8 76. 2
0 BB F—8 (4K) b1 48 99 22.8 76. 2
54 (AEE  FAE (10[x) 45 41 86 9.6 76. 4
55 |EDmBZ (9X) 39 41 80 3.6 76. 4
56 |FiL BEx (= Al) 49 55 104 27. 6 76. 4
of EIR AEF  (13R) 48 44 92 15.6 76. 4
58 |k ExE ( 6X) 47 44 91 14. 4 76. 6
59 | K% B (GH) 45 39 84 il 76. 8
60 |#& FZ (13X) 49 53 102 25.2 76. 8
61 |luAx  JEth (GH) 48 47 95 18.0 77.0
62 |BE ( 4) 49 45 94 16. 8 102
63 |I&F = ( 6) 44 50 94 16. 8 7.2
64 [(ZH HE (GH) 49 45 94 16. 8 77. 2
65 (L A ( 2[X) 56 50 106 28.8 7.2
66 | KIS *— ( 4X) 45 55 100 22.8 71 2
67 |\ EF ( 5[X) 44 50 94 16. 8 7.2
68 |E& FEiE ( 5[X) 58 48 106 28. 8 7 2
69 (RIEIES ( 6) 47 46 93 15. 6 77. 4
0 |®Eh ( 4[x) 44 95 99 21. 6 7.4
N |(*¥B 8z (TX) 48 o7 105 27. 6 77. 4
2 |M% f@= ( 4X) 50 48 98 20. 4 77. 6
73 |HLt IEHE (=A) 44 43 92 14. 4 77.6
74 |{ERE 1832 (9[x) 54 56 110 32. 4 77.6
5 |#Es e ( 6) 55 55 110 32. 4 77.6
76 [FH A ( 6X) 44 48 92 14. 4 77.6
7 BHE &8 ( 2[X) 53 50 103 25.2 77.8
78 |k EZ (TX) 53 56 109 1. 2 77. 8
79 FFH #H= ( 2(X) 45 46 91 13.2 77. 8
80 |FE iF (10E) 52 45 97 19.2 77. 8
81 |xHBE & ( 4X) 44 46 90 12.0 78.0
82 |2 R ( 3X) 53 55 108 30. 0 78.0
83 |HL i#H (1) 49 53 102 24.0 78.0
84 |H L Rrth (9E) 50 b2 102 24.0 78.0
85 |&ts B2z () 55 59 114 36.0 78.0
86 |/ X ( 6X) 5?2 43 95 16. 8 78. 2
87 |AR#t Hisk (9E) 46 43 89 10.8 78.2
88 |ERIIl & (GH) 48 47 95 16. 8 78. 2
89 |8k 3 (= Ail) 50 51 101 22.8 78. 2
90 |.t¥ ®— (1X) 44 91 95 16. 8 78. 2
91 (A M ( 1) 56 45 101 22.8 78. 2
92 |HFE BEIE (10[) 45 43 88 9.6 78. 4
93 (tA #= ( 4[) 42 46 88 9.6 78. 4
94 |REkE K ( 6) 53 53 106 27. 6 78. 4
95 (AR ( 5) 48 52 100 21.6 78. 4
96 |[{ZmEZEZ ( 4X) 45 49 94 15. 6 78. 4
97 [f)1l Bt ( 61) 57 49 106 27.6 78. 4
98 |&%Z 3k (GH) 58 a4 12 33.6 78. 4
99 |ZR ( 4[X) o1 48 99 20. 4 78. 6
100 |#& ZEY (13X) 48 57 105 26. 4 78. 6
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A A TINAUT N=X2ThHwv b ouT %% % % %
LEPRHD B1% 36 Zti# 36 I N ¥ % % % x %

[=Livd K % out [N GROSS HDCP NET
101 (FBBER 2=k ( 4X) 45 41 86 1: 2 78. 8
102 DBk #th (IX) 50 48 98 19. 2 78. 8
103 [[ED) ZZE (3X) 52 45 97 18. 0 79.0
104 | B s (9) 59 56 115 36.0 79.0
105 |[/h#F B ( 4X) 50 52 102 22. 8 79.2
106 |18 BE (1X) 52 50 102 22.8 79.2
107 |H Lt H— )=y 48 48 96 16. 8 79. 2
108 |18 =F&F (9X) 46 49 95 15. 6 79. 4
109 &S 2 ( 6X) 56 b7 113 33.6 79. 4
110 |BEFESR (GH) 50 50 100 20. 4 79.6
111 (8@ Ri# (10RX) 59 53 112 32. 4 79.6
112 |1hf H3 (=) 44 56 100 20. 4 79. 6
13 (4% EH (13(X) 51 54 105 25. 2 79. 8
114 |F%HB 5E (10X) 49 56 105 2b. 2 79. 8
115 [HEF 15 (10X) 49 43 92 12.0 80.0
116 |#& &EF (13X) 51 47 98 18. 0 80.0
17 (fs K& (11X) 52 46 98 18. 0 80.0
118 |E6H ##EE ( SX) 51 53 104 24. 0 80.0
19 [EEx AE ( 4X) 56 h4 110 30.0 80. 0
120 | o —if 9X) 46 58 104 24. 0 80. 0
121 |%=@ (&E (11X) h9 57 116 36.0 80.0
122 (B# B = 47 44 9 10. 8 80. 2
123 |=@H B (GH) 49 54 103 22. 8 80. 2
124 (¥AEIFRAE ( 5X) 54 49 103 22. 8 80. 2
125 |R#F 3L (= ai) 51 52 103 22. 8 80. 2
126 [ L B ( 4X) 55 60 115 34. 8 80. 2
127 |4hv#% =B8R ( 6X) 57 57 114 33.6 80. 4
128 |l 1R3L (10X) 50 46 96 15. 6 80. 4
129|714 =7 ( 4X) 54 h4 108 27. 6 80. 4
130 |HE EFR (MMX) 48 54 102 21. 6 80. 4
131 [[EE R4 (3X) 56 51 107 26. 4 80. 6
132 | B5E (10X) 52 55 107 26. 4 80. 6
133 "hNE  ZEst (9X) 60 46 106 25.2 80. 8
134 |BEiEE— (=& 45 43 88 1.2 80. 8
135 |1E@E # ( 1X) h? 48 100 19. 2 80. 8
136 |1 =5 ( 1X) 52 60 112 31.2 80. 8
137 [4EE =6 ( 2) 51 48 99 18.0 81.0
138 |ZH EF (=gl 54 57 111 30.0 81.0
139 ¥k =EE ( 2(X) 52 47 99 18. 0 81.0
140 |E@ B2 ( 4X) 59 52 111 30. 0 81.0
141 1AW 2K (= Al) 59 58 17 36. 0 81.0
142 |[RHBE [kt 9x) 51 53 104 22. 8 81.2
143 & 2 ( 3X) 51 h8 109 27. 6 81. 4
144 |42H sl (1X) 58 57 115 33.6 81. 4
145 |HR1E B (= A1) 60 53 113 31.2 81. 8
146 (lLE  BEH (= &) 55 63 118 36.0 82.0
147 |B8% E1T ( 2X) 47 53 100 18. 0 82.0
148 |BE S==E ( 5X) 49 63 112 30.0 82. 0
149 |#H B (GH) 45 48 93 10. 8 82.2
150 | BB HZ ( 2X) 63 48 111 28. 8 82. 2
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BREAR  STNRUT N—X2THY b ouT LI T T
LBRHD 51 36 =% 36 I'N R

NEAT K % out IN GROSS HDCP NET
151 [k B ( 4X) 59 58 1nr 34.8 82.2
152 |EHE R ( 6IX) 62 52 104 21.6 82.4
153 |H Lt EiF (= A1) 66 50 116 33.6 82.4
154 (#% &) (13) 53 57 110 27.6 82.4
105 |/h#k  IEfm ( 2(X) 52 58 110 27. 6 82. 4
196 [/MII E=ZF  (GH) 52 50 102 19. 2 82.8
167 [kH 28y (9K) 61 53 114 312 82.8
158 |BH B ( 6[X) 56 58 114 a1s2 82.8
159 |{&EFm*E ( 4[%) 65 54 119 36. 0 83.0
160 |KH FF ( 4X) 58 54 112 28. 8 83. 2
161 |F8 @@= ( 6E) 63 53 116 32.4 83. 6
162 |(2H EH (=70 61 59 120 36. 0 84.0
163 [fzhE 2K (Z#0) 61 59 120 36.0 84.0
164 (#AfE (9) 61 59 120 36. 0 84.0
165 (/R EXER ( 2[X) 63 50 113 28.8 84. 2
166 |&1% EX ( 6E) 54 52 106 21.6 84. 4
167 |8k F0AK ( 4[X) 52 54 106 21.6 84.4
168 |15 Hil (=71 57 61 118 33.6 84. 4
169 |/h#%  3FI (=) ar 59 116 3.2 84.8
170 [H EEsh (GH) 56 09 115 30.0 85.0
171 [RE —i& ( 4[X) 62 59 121 36. 0 85.0
172 (/NI wF ( 4X) 64 55 119 33. 6 85. 4
173 |HW &z (= i) 56 50 106 20. 4 85. 6
174 |BREF #0153 (1) 55 63 118 32. 4 85. 6
175 | B (= i) 62 53 118 28.8 86. 2
176 |#%  KH¢ (13X) 62 59 121 34.8 86. 2
177 i85 R ( 2K) 58 54 12 25. 2 86. 8
178 [RUg 2 ( 6[X) 63 60 123 36. 0 87.0
179 |&R i (=271 55 96 111 24.0 87. 0
180 |/\#&  SLBH (9) 64 57 121 33. 6 87.4
181 (F8 &3 (GH) 66 68 124 36.0 88.0
182 |[=H #5C (GH) 58 23 111 22. 8 88. 2
183 |fEBE F1Z ( 1) 63 62 126 36.0 89. 0
184 |3ER 1&7] (1K) 67 58 125 36.0 89. 0
185 |/ /K ( 2X) 62 66 128 36.0 92.0
186 | K% & ( 2(X) 71 63 134 36. 0 98. 0
187 |BEN E+t (GH) 68 67 135 36. 0 99.0
188 |KEE —IE ( 4] 65 7 142 36. 0 106. 0
189 |BH BAxE ( 4] 72 87 159 36. 0 123.0
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